>
A & 0l & AF 2 E A A
2018 & =0l & LBHSIH A =gl Mt
2N AT
HH: YR K4
&€ deEME s4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AT YD 8,799,218 13,343,383 A4,544 165
Xl 450,000
J| 182,544
= 448,192
Al 7,718,482
Hs4dd =4 8,729,121 13,275,344 A4,546,223
X 450,000
J| 182,544
< 448,192
Al 7,648,385
AL EME |4 2,120,009 1,427,396 692,613
NIAAZXIGA 4 66,376 59,776 6,600
201 2et24d] 6,000 6,000 0
03 &AL2 Gl 6,000 6,000 0
OAd& d= 2 & &2 MsUa 6,000
202 O4dl 7,776 7,776 0
01 = LH 4 1 7,776 7,776 0
OAZ=I|E AREA
81,0008 = 3 * 2& * 163l 7,776
203 YR =&l 10,000 10,000 0
03 AIHZ=AH 2 =AY 10,000 10,000 0
O&= & &2 MEUa =X 10,000
307 glz2+ol & 42,600 36,000 6,600
01 22724l 42,600 36,000 6,600
OM=gAXNE 25435 Y 3,000
OM=sgA 25X XI& 330,000& = 1203l 39,600
ZREEOHA Aot st 4,700 4,700 0
201 €24 4,000 4,000 0
03 A2 Z Hl 4,000 4,000 0
Od3tHaH A 4,000
301 et A= 700 700 0
09 &AL HI B &S 700 700 0
O8stss=XAt 24 700
AEZXOAE €4 45,756 103,756 A 58,000
201 Let24d] 16,500 14,500 2,000
01 At 2teltl 3,000 3,000 0
Ooss g% M= 60,000& * 50& 3,000
03 A2 Z Hl 13,500 11,500 2,000
Oos28 J1gs #¢ 10,000& * 5004 5,000
O&dXzgE g2+ 72 25,000& = 1004 2,500




2N AT
M Sy S4
&€ deEME s4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OdXl=egd £x ¢ 29 XN 1,000
OM=tal Mzl & 29 X& 5,000
202 O4dl 4,536 4,536 0
01 = LH 4 Hi 4,536 4,536 0
Od= HMEHLH 220tAHE =&
81,0003 = 143 * 2& + 29 4,536
301 et A3z 24,720 54,720 30,000
09 EAEHIE &S 4,720 4,720 0
O&dXled d=& 23 Nzl
200,000& = 53| 1,000
ogiztel pHAHE ES XI& 3,720
MIIEEaS 20,000 50,000 230,000
O&Xled d=t MMH X& 20,000
BHSANSESYIIRSY 284,971 193,090 91,881
201 Let24d] 8,480 9,080 A 600
02 2524l 8,480 8,480 0
O&gE =4 29 3,680
ozl 20,000& » 12)H& 240
clMIIR3 40,0003 = 120H& 480
cMol=E 23 20,000& » 120H& 240
ocEMLB(TVaAE HUAMNER)
60,000& » 12JH& 720
otYHZHI 200,000& = 5J4& 1,000
o Aldzels Xl 500,000& * 23 1,000
O&YgE =8xg 2¢ 4,800
o X&EHZ I 400,000& = 12JH& 4,800
301 PP B A 276,491 179,210 97,281
NVH=s=tA - 2s2SE43 276,491 179,210 97,281
O&gE 29 276,491
oX&EX Jlg= 2,630,000 » 1H » 128 31,560
o= JIZ2S(2IUE)
3,028,000 = 2% » 12&8 72,672
o= JIZ2S(2IHUE)
2,905,000& » 1H » 128 34,860
o JIEZ2S(SHUE 22)
2,686,000& » 1H 128 32,232
ocXNEX=g 500,000& = 1¥ = 12& 6,000
o=xJltHE+¢ 300,000& = 3% = 128 10,800
oc=zJIHE=E+Y 100,000 » 1H » 128 1,200
ol MHE&HUI 100,000& * 49 = 12 4,800
o galt] 130,000& » 5% = 128 7,800
o3 =] 50,0008 = 5% = 12& 3,000




e el X ot
P | d 24
ool HRENS S4 SEREED
S EHH B (B) - HEAY - BAS il HZS2
SNZA BE & 0H]
2,630,000& * 30% » 1H * 23] 1,578
o4 HESIIHI(Z2IIHE)
3,028,000& * 30% » 29 * 23] 3,634
of4 HESIIH(Z2IIHE)
2,905,000& * 30% » 1H * 23] 1,743
of4 HESIH|(Z2IIHE &)
2,686,000& * 30% » 1H * 23] 1,612
o=xUe dXEH Y HII=NY| 50,000
o Il =H| 1,000,000& * 5% * 23] 10,000
oL HAUH|(AZ) 3,000
sudse4d3 XN 991,445 311,445 680,000
307 212t01 & 84,445 84,445 0
02 DI2ZtZ AAMEE X 84,445 84,445 0
O28MES UHalsd KA 84,445
XX EEHI S 0] 907,000 227,000 680,000
NI 22X 907,000 227,000 680,000
Oguis 88435 A& 117,000
OsniMs XN XA elAH]
22,000,000& * 54 1 110,000
OEXsYxE M s XA 480,000
Oad8=x =84 x5 X3 200,000
bl 29 & 207,457 229,429 N21,972
oI2t0| & 204,957 229,429 N24,472
Q2B E2IHED 204,957 229,429 N4, 472
OHYAMES 20 144,672
oANR=H 3,758,000& * 1H = 12& 45,096
ox¢ 3,091,000& ~ 1H * 12& 37,092
ozl 2,797,000& ~ 1H * 128 33,564
oz 2,410,000& ~ 14 * 12& 28,920
OY&E S| 7,235
oAMNERE 3,758,000& * 30% » 14 * 23] 2,255
oF¢l 3,091,000& * 30% » 1H * 23] 1,855
o2 2,797,000& * 30% » 14 * 23] 1,679
oF¢ 2,410,000& * 30% » 1H * 23] 1,446
o4z 15,191
OExAEZ 12,659
OANRE=29 2,100,000& = 12& 25,200
oI2tXt 20| & 2,500 0 2,500
DIt 2 AN E S (KM ) 2,500 0 2,500
OMSE= YLt 2,500




2N AT
FM: HsdE 84
el WRAEHS K4 (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
A EXN=E 2435 XA 345,304 350,000 A 4,696
307 gl2tol & 345,304 350,000 A 4,696
02 It M AHE L 345,304 350,000 A 4,696
OXM=sZ =l 345,304
oHSEE QA 295,304
osHE&H XA 10,000
oMA=RHE XA 6,000
cdelEXM=EUSE =& 2 Mz N2 7,000
ocFIAN 22X ¥ 2+ X 14,000
ocHSESSIM dUX XA 8,000
o M99sl d=H=Uz &It XA 5,000
d=2 Y T deEXMSsUS &It 24,000 24,000 0
307 glz2tol & 24,000 24,000 0
04 QIZFHALAIH B = 24,000 24,000 0
OdclEX=0a &It 24,000
ZRATOHA EO 150,000 150,000 0
307 21201 A 150,000 150,000 0
04 QIZFHALAIH B = 150,000 150,000 0
ORN53s ZAZQME FHIN(IEZ) 150,000
dEM=UE 1,854,000 934,600 919,400
EHEMAHE &= 0 S0 =20 153,000 153,000 0
307 21201 A 153,000 153,000 0
04 DIZHHALALSE E X 153,000 153,000 0
02018 EHHAHY &= 0 =10 202 153,000
EHERAIEDl Sl S0 S &3 14,000 13,000 1,000
307 glz2tol & 14,000 13,000 1,000
04 DIZHHALALSE E X 14,000 13,000 1,000
OM193] EHHMAIED] S S0 2 =U3 14,000
TN SAZREAI =2 20 S0 HEZUS 270,000 266,000 4,000
307 glz2+ol & 270,000 266,000 4,000
04 QIZFHALAIH E = 270,000 266,000 4,000
OM29g =aMs22R2F2)| d= €0 1
EHE ZCHE 270,000
EHERALD] M2 S8 HESUE 165,000 162,000 3,000
307 glz2tol & 165,000 162,000 3,000
04 DI2HHALALSE E X 165,000 162,000 3,000
OMI158! EfeHat)] M= S8 #HESU S 165,000
EHERARD] =2 0 23 52,000 52,000 0




2N AT
3 MsaY |4
@42 d2HsU (Sl & &)
A BB B (E) - HRAY - BES 0] &k o4 il Hl D&
307 glz2tol & 52,000 52,000 0
04 DI2HHALALSE E X 52,000 52,000 0
OHM145 EHMAD|] 8= 0 2=Ua 52,000
d= FH =7 WA 364,000 0 364,000
307 eIzl & 364,000 0 364,000
04 QIZFHALAIH E = 364,000 0 364,000
OM49g &= FH =7 AWH 364,000
SLREHE2)| = CHUE AU 240,000 238,600 1,400
307 21201 A 240,000 238,600 1,400
04 QIZFHALAIH B = 240,000 238,600 1,400
OHM27al =2¢=2&2)| dICHUHE BHAZH
3 240,000
el E3 O AA CHEE SF2U3E 50,000 50,000 0
307 glztol & 50,000 50,000 0
04 QIZFHALAIH E = 50,000 50,000 0
02018 EHM | EHOLAA =HE 50,000
OtAIOtCHE: ==CHa 285,000 0 285,000
307 glztol & 285,000 0 285,000
04 QIZFHALAIR B = 285,000 0 285,000
02018 OtAIOtCHEY = THZ] 285,000
EHERAHE M= S0 s4F0] d+=2 e 156,000 0 156,000
307 21201 A 166,000 0 166,000
04 DIZHHALALSE E X 156,000 0 156,000
OM16a! EfSHAE M= S0 |F4ZJ| d=3
tHal 156,000
EHEH A SBS HALZZ2E=E (3 30,000 0 30,000
307 glztol & 30,000 0 30,000
04 QIZFHALAIR B = 30,000 0 30,000
02018 SBS EHe A OIAt Z2=2EHE 30,000
=J0HE 42 old B2 e 60,000 0 60,000
307 gl2+tol & 60,000 0 60,000
04 DI2HHALALSE E X 60,000 0 60,000
02019 =JtHE &2 Hld EBHAZUE 60,000
ZRATEHIFI =50 HE=SUHS 15,000 0 15,000
307 gl & 15,000 0 15,000
04 QIZFHALAIH 2 = 15,000 0 15,000
OHM29sl LAEEHAFHI =50 HE=US 15,000
MBS MBS 1,213,700 8,170,700 A 6,957,000




S A=Y M
HEM: ALY 4
ool MBSO K CER-ED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
Pl 182,544
& 38,192
Al 992,964
MEHE2HSE 38,584 38,584 0
201 LBt 22,400 22,400 0
01 AP 22| H| 1,500 1,500 0
OAEZXY N 24 1,500
02 2324 20,900 20,900 0
OHOIEEZR & &EIJI=2 1,000,000 = 12& 12,000
OHOIEEE & Motk 23
200,000& = 12& 2,400
OMESANE 2R AIE2 5,000
OXHANSEASE SFH 300,000& = 5& 1,500
202 044l 5,184 5,184 0
01 2L I 5,184 5,184 0
OAEZXY N 24
81,000& x 4% x 22 x 83| 5,184
203 ¥ 2 =&XH| 10,000 10,000 0]
03 Al 2 =& 2 F X H| 10,000 10,000 0
OAZX NS 10,000
206 M = H| 1,000 1,000 0
01 X2 H| 1,000 1,000 0
OMEYAIAE 22| 1,000
AZ =20 2d A 41,280 30,720 10,560
J| 28,896
= 6,192
Al 6,192
301 et A= 41,280 30,720 10,560
J| 28,896
= 6,192
Al 6,192
01 Al B & X 262 41,280 30,720 10,560
OAZX2E OlSHAIY 41,280
J| 28,896
& 6,192
Al 6,192
MEH KIS X B 162,768 159,648 3,120
J| 76,824
Al 85,944
307 2I2t0| & 162,768 159,648 3,120
J| 76,824
Al 85,944
02 DIZHEAAIRE E X 162,768 159,648 3,120




0z = |

E=ol N
&g |4
gx=selT M=

= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2
OMEM XA BHXI
2,134,000& » 6% 128 153,648
J| 76,824
Al 76,824
OMENSXNEX HESIHI
600,000& * 6H * 23| 7,200
oz=2zx+4 1,920
o6& 0l& 78 0/2t 60,0003 » 1H » 128 720
=108 0l & 100,000& » 198 = 128 1,200
Hza Msgds X 162,768 159,648 3,120
J| 76,824
Al 85,944
307 glz2tol & 162,768 159,648 3,120
J| 76,824
Al 85,944
02 IZtE M AMHEE 162,768 159,648 3,120
oozd M=gs N&E
2,134,000& » 6% » 128 153,648
J| 76,824
Al 76,824
oozd MEXNEZX EEFOH
600,000& = 6Y « 23] 7,200
o255+ 1,920
o74 0l4 84 0O/2t 70,000 » 1H » 128 840
o9& 0|4 ~ 10&@ 0O|¢gt
90,000& = 1H = 12& 1,080
M138 ZJAE MM SHS 99,000 0 99,000
307 glz2tol & 99,000 0 99,000
04 DI2HHALALSE E X 99,000 0 99,000
OHM13al L& HEAN MEUWSUHE Ml 99,000
ZEE 02 MEMsEUH ot 13,000 15,000 A2,000
307 glz2tol & 13,000 15,000 A2,000
04 QIZFHALAIH E = 13,000 15,000 A 2,000
OZ3E H=d MEXN=UHE &It 13,000
MEHs 2208 29 24,000 19,200 4,800
< 12,000
Al 12,000
307 21201 A 24,000 19,200 4,800
< 12,000
Al 12,000
02 LAFAAFEX 24,000 19,200 4,800
OdENs=ZzId 22 XA 12,000
< 6,000
Al 6,000




2N AT
3 MsaY |4
& MEHs T MY (&)
5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
Odadsns 29 12,000
< 6,000
Al 6,000
ZRAZMEHNSUHE FOt 110,500 81,000 29,500
307 21201 A 110,500 81,000 29,500
04 QIZFHALAIH B = 110,500 81,000 29,500
OZZ-UdEM=UHI It 95,000
OZ2c ZUYMEM=UE &t 15,500
mAE Hsny 29 31,500 23,000 8,500
307 glz2tol & 31,500 23,000 8,500
02 It HAHEE 31,500 23,000 8,500
OMsRns 24 (8tS,57,49] ) 31,500
d= 2 THP MEMSUHE 55,000 50,000 5,000
307 glz2+ol & 55,000 50,000 5,000
04 QIZFHALAIH B = 55,000 50,000 5,000
Of= & Tt dEdM=sUza 55,000
ZoHe MEMFH 5,300 5,500 A 200
307 21201 A 5,300 5,500 A 200
04 QIZFHALAIR B = 5,300 5,500 A 200
OZOQ M= &It 5,300
=MSsdE 29 280,000 310,000 30,000
307 gl2tol & 270,000 300,000 230,000
05 BIZHRI & 3 270,000 300,000 230,000
O=2HMSHH 2U2HAE HAAMSH 270,000
401 A& HIZ 201 8] 10,000 10,000 0
01 A& HI 10,000 10,000 0
O=ZHSsHH AlEEH| 10,000
S3HMFAE FHI 150,000 140,000 10,000
401 AIEHI L 201 150,000 140,000 10,000
01 A& HI 150,000 140,000 10,000
OAOIEESE &I 100,000
OSUHMSAIE FHI 50,000
et Sdl2 & DtetEdal 40,000 0 40,000
< 20,000
Al 20,000
307 glz2+ol & 40,000 0 40,000
= 20,000
Al 20,000
04 QIZFHALAIH B = 40,000 0 40,000




AZ =N
Hsad 84
METSOT MY oEe)
. SfE|
S B (3 Ol &t o4 e =51
OHM1al Astat Selld 40,000
< 20,000
Al 20,000
M= 370,000 225,400 144,600
AMEI dEdsUsl 85,000 68,000 17,000
307 2Iztol A 85,000 68,000 17,000
04 DI2FHALAISE E X 85,000 68,000 17,000
OHHAIZD & MEMSUHSI 85,000
EHEH A AtATHES TS 25,000 13,400 11,600
307 21201 A 25,000 13,400 11,600
04 QIZFHALAIH B = 25,000 13,400 11,600
OEHER A A& HES TS 25,000
EHERAIEE 2R & D428 2Zg 14,000 14,000 0
307 21201 A 14,000 14,000 0
04 DIZHHALALSE E X 14,000 14,000 0
OHM73 EHEHAIZEH 23 et 2 ZU3 14,000
EHEHAD] M2 X EHO SR 3 40,000 0 40,000
307 glz2tol & 40,000 0 40,000
04 DIZHHALALSE E X 40,000 0 40,000
OEHEH A MIAZO SR 3 40,000
EHEHAH M =SS0l HILIAWMS 18,000 18,000 0
307 2I2t0l A 18,000 18,000 0
04 DI2HHALAISE E X 18,000 18,000 0
OXM9s| Efe o =230 HILIAME 18,000
EHEHAH M=2S S0 BHEQE S 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIR B = 30,000 30,000 0
ORMI122] EHE A M =2=5sQ BHESIEH S 30,000
EHEH A M =330 S22 18,000 18,000 0
307 21201 A 18,000 18,000 0
04 DIZHHALALSE E X 18,000 18,000 0
ORXI8al EHEAH M=s502 U3 18,000
SUFINE A2 LIS 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DI2HHALAISE E X 10,000 10,000 0
OoagaEIE A2Eelllsl 10,000
ZRANEN A 10,000 8,000 2,000




SBMH AZXYNY
HH: HEM4Y =4
& MEHsU (cho &)
£AH-FH-H2A(3AH) - A2AY -BHES Ofl & oH %‘E_i Hn&s2Z
307 glz2tol & 10,000 8,000 2,000
04 DI2HHALALSE E X 10,000 8,000 2,000
02018 2@ &N L 2D HEHA 10,000
Q2L RAXIAI AAZE D] 3 10,000 8,000 2,000
307 eIzl & 10,000 8,000 2,000
04 QIZFHALAIH E = 10,000 8,000 2,000
OM183 ALK AL LelIIU3 10,000
DRAAAZ AIQ A2 2|3 10,000 8,000 2,000
307 21201 A 10,000 8,000 2,000
04 QIZFHALAIH B = 10,000 8,000 2,000
02018 EHEYH ator Sz 2II03 10,000
CHEd AtHY M H=S S 2038 40,000 0 40,000
307 21201 A 40,000 0 40,000
04 DIZHHALALSE E X 40,000 0 40,000
02018 EHEH AFHY MBS E O3 40,000
ZEEXAD MEHSE SRS 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 DI2HHALALSE E X 20,000 0 20,000
OHM193 2R XA MEHs S2US 20,000
Mg SH QE &§3203 40,000 0 40,000
307 glz2tol & 40,000 0 40,000
04 QIZFHALAIH B = 40,000 0 40,000
OM112 SHH 2Z &-Ual 40,000
HMSFIIBtAIEd =S - 2tel 3,171,412 2,517,248 654,164
Xl 450,000
= 410,000
Al 2,311,412
SEZIE 2822l 342,608 885,407 A542,799
101 @14l 32,116 28,045 4,071
4 012ZtHZ22EE = 32,116 28,045 4,071
o&tiZel 22X E= 32,116
cJIEg=s 60,2403 * 298 » 200 24,096
oFFd 60,2403 * 2H = 40 4,820
o 2HAlH| 3,000& * 28 = 200 1,200
o HEFIHH| 500,000& = 2H =« 23| 2,000
201 Let2dy] 154,900 146,170 8,730
01 At 22/l 40,000 41,470 21,470
OZJI&E Algze 2Y 8,000
O=2RX MEE 14,000




S A=Y M
HEM: ALY 4
ool HSIIBAILEA - 22 (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OHHED L2 (43]) 4,000
OFIF N& gy
50,000 = 2.5¥ x 112¢ 14,000
02 2224 114,900 104,700 10,200
O232=2 % HA 53,900
odMIIR2 1,000,000 * 12& 12,000
oMBIEER2 3,000,000& = 12& 36,000
ocEtAINNEEZ 400,000 * 23| 800
oclHIX =HExT 5,000,000& = 13 5,000
o XS XHAI(1TH) 100
O 2| 6,000
oEEHIEY L] 500,000  4& 2,000
oXtz LU XCIJIH HZH|
400,000& = 10 4,000
OA & &l 8 XYl 28,000
oXEEHINZE ANLEES SA 22 28,000
@ra=1:] 3,600
o3lzAY™ 300,0008 = 12& 3,600
OR0HHIAIAE S 24
500,000& = 12& 6,000
OLE=HeAE SA2e 24
300,000& = 20HA = 12&€ 7,200
OZEHIE 2 1A AMES H)IEE 29 10,200
oEFEHIEY A2 @™ HIIEH 4
4,500,000 = 23| 9,000
oA AES otz HEIIEE =4
600,000 = 23| 1,200
202 04d| 2,592 2,592 0
01 2Ll 2,592 2,592 0
OTEZIE 22 gFFX
81,0008 x 2% x 22 x 83| 2,592
206 TH 2 H 35,000 35,000 0
01 X2 Hl 35,000 35,000 0
OZedIE 292 (M Us2 . H2E) 35,000
401 Al HI L 2 0HHI 45,000 665,600 A 620,600
01 Al& H| 45,000 665,600 A 620,600
OSEHIHE AtdE=HIDIA HH| 20,000
Od2d =i &bl 25,000
405 XHoHFE S HI 73,000 8,000 65,000
01 XAt 2B F S| 73,000 8,000 65,000
OFEEINE NsdsANsSES 7Y 8,000
ODNRARE XCI24D] &H P2 45,000
OTSEZEIE 2 47 E eEs5EH F 20,000




2N
X ZH -
L= B

el

T KD
sae |4
SIBAIEES - 2

Y. B9 (3H) - HEAMY - BES o AF o San H D2
LN 2922 300,346 276,841 23,505
201 Bt H | 235,050 241,500 AN6,450
01 AP 22l Yl 15,000 15,000 0
ONEMESH N2 8¢ 10,000
O=28INAE= 5,000
02 352494 220,050 226,500 AN6,450
O332=2 2 HA 160, 100
olMIIR3 8,000,000& * 12& 96,000
oMot ER2 600,000& = 12& 7,200
ol XN E 800,000& * 13 800
ozl EIIEANE 800,000& * 13 800
oXMI|IMABAIS 600,000& * 13 600
oMaZXEHAZ 20,000& = 100E€ * 23 4,000
oftdAEE 800,000& * 43| 3,200
COIBHI(0012 2 )
9,500,000& * 5& 47,500
OA & &Hl S XYl 15,000
oM AIEE2 A2 15,000
ORoFHAIAHE X2 4
500,000& * 12& 6,000
ONANEA 2| 722 24
250,000& = 12& 3,000
OLNIANESH B2 M2 89 17,000
OQNEMEZ 2 2JHA A2 otEZE] HII(
dd) 38 9 18,950
ocIMNEH AIEZ2 otd™ 22 I & HY
8q3& 249 14,350
oXMHIMEH AIEZE A2 HIEE 29
1,500,000& * 23] 3,000
oEHMEH AIEZ2 A2 HIEE 24
800,000& =* 23] 1,600
202 04| 1,296 1,296 0
01 2LH 0 HI 1,296 1,296 0
ONAME2 gR2FH
81,0008 * 2 x 22 x 43| 1,296
206 TH 2 HI 6,000 6,000 0
01 M= bl 6,000 6,000 0
O&I ¥ sS4, st&EA & M 7Y 6,000
401 Al B 2 0HHI 50,000 0 50,000
01 A& HI 50,000 0 50,000
O MI|&H &bl 20,000
Ol I " B4 30,000
405 XHabF SHI 8,000 0 8,000




2N AT
FM: HsdE 84
el MSINPALEL - Bl (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET
01 AL EZFH S 8,000 0 8,000
OXMIIHA=EHH ¢ 8,000
EHSHAEZ =T 2F 22| 123,458 0 123,458
101 @14l 16,058 0 16,058
04 JI12ZtHZ22HEE = 16,058 0 16,058
O AZ=03 2l 22N B 16,058
cJIE2s 60,2403 * 1989 » 200 12,048
oFFd 60,2403 * 1H » 40 2,410
o 2HAlH| 3,000& * 1€ * 200 600
o dZF Il 500,000& = 1H = 23| 1,000
201 Let24d] 92,400 0 92,400
01 At 22l 15,200 0 15,200
OAZEMIA A&2E 29 4,000
0FIIZ N gNaR4T
50,000& = 28 = 112¢ 11,200
02 23224l 77,200 0 77,200
03323 2 HA 64,200
clIIR3 1,500,000& * 12& 18,000
cMl+=ER3 3,000,000 * 12& 36,000
cEHIMNERES 500,000& = 23| 1,000
oF¥oX FHs=E 5,000,000& = 13l 5,000
oMI|otM2e | +~+= 350,0008 1228 4,200
O =zl 2,000
oAX =TS ey 500,000& = 43 2,000
OA&EHl s Xl 5,000
oALXIA M2 A2 5,000
ORQAHIAAE KXz Y
500,000& = 12& 6,000
206 TH 2 HI 5,000 0 5,000
01 M2 4l 5,000 0 5,000
OAX =03 292l 5,000
405 XHoHF S HI 10,000 0 10,000
01 AL EZFH S 10,000 0 10,000
OXtet & 2ZHSHI 10,000
cAN&EE 2eEZF Y 10,000
otelat DXHEZE Z| 5,000 5,000 0
401 AIEHI L 201 5,000 5,000 0
01 A& Hl 5,000 5,000 0
OJtg g DXNHEAE Fl 5,000
AMEHUAY dESALE &X 1,900,000 0 1,900,000




SH: AEZYH D
HE: MM SY

S MKIIBLAId Y - 2 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al 450,000
[ 210,000
Al 1,240,000
401 Al HI YL 2 0HHI 1,900,000 0 1,900,000
Xl 450,000
< 210,000
Al 1,240,000
01 A& HI 1,894,619 0 1,894,619
OAMBOIHILIAZ £ X0H bl 400,000
OASIHULAXY AAS A& BA 1,494,619
Xl 450,000
[ 210,000
Al 834,619
03 A& 2 0HH| 5,381 0 5,381
OAMOIHILIAZ MEZ A3 A 20l
1,494,619,000& * 0.36% 5,381
=2 & dol SEBA 400,000 0 400,000
= 200,000
Al 200,000
A&H YL 20U 400,000 0 400,000
== 200,000
Al 200,000
01 Al&H| 397,140 0 397,140
O=2 & do SESA 397,140
o= 200,000
Al 197,140
03 Al& 201 1] 2,860 0 2,860
O=4d & dlol SE3 A 20Ul
397,140,000& * 0.72/100 2,860
BHA IR EZSTH HAES AIESA 100,000 0 100,000
401 AIEHIL 20| 100,000 0 100,000
01 A& HI 100,000 0 100,000
OUHAMIZISEZS DY MIEF A SA 100,000
HHSAAY (ATZYHY) 70,097 68,039 2,058
Jl2& bl 36,920 35,840 1,080
Jl 2 AH| 36,920 35,840 1,080
201 YEr2 Y| 32,040 30,360 1,680
01 At 22l ] 32,040 30,360 1,680
OME2d9 JI=2&8tl 6,600
o AEXLX)|E 300,000 = 12& 3,600
o AL XAIA 250,000& = 12& 3,000
OAMNREE FAU(2AX S) 4,800
o ALZX)|E 200,000& = 12& 2,400




SA: AZEYHD
HM: HHM2AAH(AEZ=Y N D)
& 123l CEE-ED
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
[P SUNE= 200,000& = 12& 2,400
OMHHEARID 228 2 7,200
o ALZLX)|E 300,000 = 40 = 23] 2,400
o AIXLXY XN 300,000& * 2CH = 23] 1,200
o AZRAHL 300,000 = 6CH * 23] 3,600
O3l 13,440
o AHZX)|E 8,000& * 10 = 7L = 12& 6,720
o AT XAHL 8,000& * 10¥ = 72 = 12& 6,720
202 04| 1,280 1,280
01 2LH0HI 1,280 1,280
OHl&aZ2 20 b 1,280
203 & R =&H| 3,600 4,200
04 EANSHLRF=AH| 3,600 4,200
ORANSELERFAH| 300,000& = 12& 3,600
ol 2AY| 33,177 32,199
ol 2| 33,177 32,199
101 2121 4| 33,177 32,199
03 2IHL=ZZ2XHE %= 33,177 32,199
Os&HINE 22l 22X B 33,177
ocllza 1,546,390 * 1H 128 18,557
SPNRG = 1,546,390 400% 6,186
o MAANHASY 160,000& = 1Y 128 1,920
o M MFAY| 120,000 * 1Y 128 1,440
ol LG 100,000& * 19¥H 128 1,200
o JIH B X4l 30,000& » 1H 128 360
cHIRIF Y 92,0643 18 1,658
oY A F I 1,546,390& 120% 1,856




